H & 0l & AHS B Ml A

20233 =0lat HOISHMElAlE SE3H &

S BT
Za: EDI2 Mel 2

ool HDISMIAL AX L SY(HII2HIAE SEaH) CCHRED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ST 1,996,292 2,642,509 A646,217
HIIZ Xl 2el 72,000 460,000 A.388,000
HOISX2IAIE X & 2S(HIISHIAE SE3IAH) 72,000 460,000 388,000
SEHEY € d8 X YFAL &1 50,000 460,000 A\410,000
401 AlZHIZ SO 50,000 460,000 A410,000
01 A28l 50,000 460,000 A410,000
Odg & SFAE W 5D £€X
50,000,000& *14! 50,000
A2z =AlE &X 22,000 0 22,000
401 AlZHIZL SO 22,000 0 22,000
01 Al&H| 22,000 0 22,000
OXel=(A2)AIE XNZEX BHEE =
A ES 22,000,000& * 14 22,000
Wees (et ) 1,904,329 2,156,084 A251,755
WEHAXKIZ(HOISMIAIE) (HOISHIAIE SE3IH) 1,904,329 2,156,084 N251,755
Ee) 1,904,329 2,156,084 A251,755
704 o= 1,904,329 2,156,084 A251,755
01 OIEt= 1,904,329 2,156,084 N251,755
osgNgdabs tigs
1,904,329,000& » 14 1,904,329
(Gla1ha] 19,963 26,425 N\6,462
OIHIBI(EDISM2IAIE SE3I) 19,963 26,425 NB,462
HIIZSX2IAIE &XI ol 19,963 26,425 NB,462
801 GdiHI8I 19,963 26,425 A6,462
1 8ol 19,963 26,425 A\6,462

Oodl 19,963,000 & * 14! 19,963




